RYCO

X115FW”

X115FW FUEL WATER SEPARATOR FITMENT
INSTRUCTIONS

RYCOFILTERS.COM.AU | RYCO.CO.N2Z

SX115FW-V2



X115FW FUEL WATER SEPARATOR FITMENT INSTRUCTIONS

MITSUBISHI TRITON ML & MN 2.5Ltr- See RYCO catalogue for specific application details.

The Ryco X1 15FW kit includes mounting brackets specifically designed for the vehicle, and all components required to complete
the installation of Ryco ZS80SK16 series fuel water separator. It is recommended that the installation is conducted by a qualified
mechanic following the procedures in this instruction sheet.

—

— e TN
1 — e

FUEL FILTER
BRACKET
LOCATION

- »
]

[RRAGO)

rumL =TSR

29805

S=———

SECTION 1 SECTION 2
FUEL WATER SEPARATOR MOUNTING BRACKET FUEL WATER SEPARATOR

RYCOFILTERS.COM.AU | RYCO.CO.N2Z

ISX115FW-V2




X115FW FUEL WATER SEPARATOR FITMENT INSTRUCTIONS

COMPONENTS INCLUDED IN X115FW KIT

PARTS LIST - FUEL FILTER BRACKET & COMPONENTS BOX

MS4096A
QUICK CONNECTOR x 2

MS4041A
FUEL HOSE CLAMP x 4

Ut

|

MsS4121
STRAIGHT CONNECTOR x 2

Jmm  few ] |

MS8012 MS4037 MS4106 MS8008
HEX BOLT x 1 (M8 - 16mm) HEX BOLT x 1 (M6 -25mm) | AT WASHER x 1 (M6)  FLAT WASHER x 1 (M8)

RYCOFILTERS.COM.AU | RYCO.CO.N2Z

ISX115FW-V2




X115FW FUEL WATER SEPARATOR FITMENT INSTRUCTIONS

COMPONENTS INCLUDED IN X104FW KIT

FB9813FC
FUEL WATER SEPARATOR MOUNTING BRACKET x 1

MF9813A MF9813B
MOULDED FUEL HOSE x 1 MOULDED FUEL HOSE x 1

S
N/

N1

. 3

(U L (e

RYCOFILTERS.COM.AU | RYCO.CO.N2Z

ISX115FW-V2




X115FW FUEL WATER SEPARATOR FITMENT INSTRUCTIONS

SECTION 1 FUEL WATER SEPARATOR MOUNTING BRACKET FITMENT

PARTS REQUIRED

MS4106
Flat Washer x 1 (MB)

I

MS4037
Hex Bolt x 1 (M6 -25mm)

FBS813FC
Fuel Water Separator Mounting Bracket

|

MS8008
Flat Washer x 1 (M8)

FJmm

Ms8012
Hex Bolt x 1 (M8 -18mm)

TOOLS & PPE REQUIRED
* Rachet Set

* Work Gloves

* Socket Set

WORK PROCEDURE

1

FIGURE 1B

UL 2

R
N ag

. —

FIGURE 1A

FIGURE 1C
FUEL INSTALLATION AREA

Please note below diagrams for engine bay thread locations used for fitting FB9813FC fuel bracket.

M8 Engine Bay Thread

M8 THREAD LOCATIONS

M6 Engine Bay Thread

M6 THREAD LOCATIONS

RYCOFILTERS.COM.AU | RYCO.CO.N2Z

ISX115FW-V2




X115FW FUEL WATER SEPARATOR FITMENT INSTRUCTIONS

SECTION 1 FUEL WATER SEPARATOR MOUNTING BRACKET FITMENT

2 Note Fitment Location of FBSS13FC

3 Attach MSS00S MS flat washer to MS Hex Bolt
MSS012, then screw MS Hex Bolt into MS engine bay
thread as shown in FIG.3

4 Attach MS4106 M6 flat washer to M6 Hex Bolt
MS4037, then screw MB Hex Bolt into M6 engine bay
thread as shown in FIG.4

RYCOFILTERS.COM.AU | RYCO.CO.N2Z

ISX115FW-V2

FB9813FC

FIGURE 2
FBS813FC BRACKET PLACEMENT

M8 Engine
Bay Thread

MS8008
M8 Washer

MS8012 M8
Hex Bolt

FIGURE 3
M8 THREAD LOCATION

M8 Engine
Bay Thread

MS8008
M8 Washer

MS8012 M8
Hex Bolt

FIGURE 4
M6 THREAD LOCATION




X115FW FUEL WATER SEPARATOR FITMENT INSTRUCTIONS

SECTION 2 FUEL WATER SEPARATOR INSTALLATION

i ]

M16 Flange Nut x 2

PARTS REQUIRED

Plug x 2 MS4121

B Straight Connector x 2

N
©.)l(’

MS4041A
Fuel Hose Clamp x 4

'-i

Sq< ¢

—
o
Z980K16 M10 Washer x 4 MS4096A MF9813A MF9813B
Fuel Water Separator Bolt x 2 Quick Connector x 2 Fuel Hose x 1 Fuel Hose x 1
TOOLS & PPE REQUIRED
* Rachet Set * Hose Clamp Pliers
* Work Gloves * Rags

WORK PROCEDURE

1 Locate the supplied MS4096A male quick connectors.

2 Locate the blanking plugs supplied with your Ryco fuel water separator.
3 Install Supplied M16 Washers, MS4096A quick connects and blanking plugs as shown in FIG. 5, ensuring they are tight.
4 Install two (2) supplied straight connectors onto one end of both the supplied fuel hoses and install four (4) supplied fuel hose
clamps onto each end of the fuel hoses, as per FIG. 6. Do not tighten the fuel hose clamps yet.
MS4121
STRAIGHT CONNECTOR
MS4041A
FUEL HOSE CLAMP
MS4096A
QUICK CONNECTOR
M16
M16 WASHER
PLUG
MF9813B
STRAIGHT CONNECTOR
QUICK CONNECTOR
10 FUEL HOSE CLAMP
M16
M6 WASHER FUELh:I-iSO“g:C?_AMP
PLUG
FH9813A ASSEMBLED FH9813B ASSEMBLED
FIGURE 5 FIGURE 6
FUEL WATER SEPARATOR HEAD PREPARATION FUEL HOSE PREPARATION

RYCOFILTERS.COM.AU | RYCO.CO.N2Z

ISX115FW-V2




X115FW FUEL WATER SEPARATOR FITMENT INSTRUCTIONS

SECTION 2 FUEL WATER SEPARATOR INSTALLATION

5 Referring to FIG.7A/B, remove OEM fuel house that is
connected between “from fuel tank” metal pipe & “OEM
fuel filter housing inlet” metal pipe.

6 Referring to FIG.7B install assembled fuel hoses MF9813A
MFS813A and MF9813B as shown. MFS813A T
connects to “from fuel tank” metal pipe. MFS813B
connects to OEM fuel filter housing inlet metal pipe.

From Fuel Tank
Metal Pipe
OEM Fuel Fi
Housing Inl

FIGURE 7A
FUEL HOSE FITMENT

FIGURE 7B
FUEL HOSE FITMENT

RYCOFILTERS.COM.AU | RYCO.CO.N2Z

ISX115FW-V2




X115FW FUEL WATER SEPARATOR FITMENT INSTRUCTIONS

SECTION 2 FUEL WATER SEPARATOR INSTALLATION

7 Using the M10 Bolts and \Washers supplied in the
Ryco Z980SK16 fuel water separator kit, attach the

Z980SK16 to the FB9813FC bracket as shown in FIG. B,

page 7.

8 Starting with the longer Ryco fuel hose MFS813A, install
the Straight connector end onto the inlet port on the
Ryco fuel filter head. Then proceed to fit the straight
connector end of MFS81 3B onto the outlet port of the
Ryco fuel filter head. Connection has been successfully
made when you hear a ‘click’ noise.

RYCOFILTERS.COM.AU | RYCO.CO.N2Z

ISX115FW-V2

M10 Washer

M10 Hex Bolt

FIGURE 8
FILTER HEAD FITMENT

MF9813A
Assembled

Ryco Fuel
Head Inlet
Ryco Fuel
Head Outlet

MF9813B
Assembled

FIGURE 9
HOSE FITMENT TO FILTER HEAD




X115FW FUEL WATER SEPARATOR FITMENT INSTRUCTIONS

SECTION 2 FUEL WATER SEPARATOR INSTALLATION

WORK PROCEDURE

9 WARNING: The fuel system MUST BE PRIMED prior to starting the engine. DO NOT OPEN THE BLEED SCREW ON THE RYCO
Z980SK186, keep closed.

10 Locate the priming button on top of the factory fuel filter and prime the fuel system by pumping the button repeatedly. Continue
pumping until it is hard to press. The priming process could take approximately 5 - 10 minutes.

11 Once you can no longer depress the priming button, turn on the engine. With the engine running, check for fuel leaks on all the
installed equipment.

FIGURE 10
COMPLETED FUEL BRACKET INSTALLATION

RYCOFILTERS.COM.AU | RYCO.CO.N2Z

ISX115FW-/2 PAGE 10




RYCO

X115FW”

X115FW FUEL WATER SEPARATOR FITMENT
INSTRUCTIONS

RYCOFILTERS.COM.AU | RYCO.CO.N2Z

ISX115FW/2 PAGE 11



